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16U/115/2(i)

No. of Questions : 150
TgAl DY =T ;150

Time : 2% Hours | [ Full Marks : 450
7Hg 0 21 goe] [ quifg: 450
Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)

1.

marks. One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

AHNG Tl BT T DA BT TS DAY gRAT g 3 () o 3T &
TAF TR IR & o0 §F s aier arer| gl SR WYt @il Y
T~ I | -

(1) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.
uﬁ(wﬁm?ﬁaﬁmﬁwwﬁwﬁﬁﬁm%\?ﬁmﬂﬁﬁ I T |
(iii) This paper comprises of three Sections Physics, Chemistry and Biology.
Each Section contains 50 questions. ‘I
H‘a’mﬂﬁ‘t’ﬁ?\@'ﬂs‘s’f?ﬁr%:ﬁ%ﬁﬁm,?ﬂmﬁﬁﬁ@mﬁrﬁmmﬁf
gue H 50 gy |
SECTION - |
os - |
(PHYSICS)
| (fas fasm)
Dimension of Planck's constant i -
(1) ML*T? (2) M2 (3) M37-2

[n determining momentum
displacement and time Inte
momentum will be

T o X, Te r - ;
—gbrﬁ'i 2,3313[? G T T L aﬁ‘: Ljnﬁ :
(1) 1% @) 36, (3) 1%

(1)

Of d budy @rrors in the mga
rval are respectively, 2.3 ang g, Ments of ;.
n, I

Sure
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16U/115/2(i)

3.

A particle is executing a simple harmonic motion with amplitude xp. Its

potential energy is half of its total energy when its displacement from the mean
position 1s :

wm;-gmmﬂmm?ﬁvﬁrﬂww%rswﬁﬁuﬁmwﬁmw
Haf @ el 2l g9 e Rufy 9 g9 Axergs g e

\{E ) Xn _'.1_0. .
(1) S-% @) = @) 5 4) V2 xg

A hole is made in earth through its centre (along a diameter). A particle is
placed at one end of this hole. Which of the following is true ?

(1) it will not move into hole

(2) it will move into hole and stay at earth’s centre

(3) it will move to the other end of hole and stay there

(4) it will make simple harmonc oscillation |
Qﬁﬁﬁﬁﬁmwm-wwmarwmﬁwmaﬁwﬁm H TP
OR W @ W 2| e Y e g g R ?

(1) ug s & gdw 78 &

(2) Hﬁmﬁmmmqaﬁ?ﬁﬁu‘qﬁﬁm

(3) 78 5% @ TR BR aF W a8l o

(4) e TR oA T HX

lanet is orbiting around earth in a circulur nrbitﬁof rladius r with time period
&P ant 1‘5\ ced in another orbit of radius 4r, its period is :
T_lfitlhpa$ aRi 3R r Brow areht wer A T el UIRG IR
wﬁ@mmmﬁqmﬁamm;aﬁmﬁmﬁmr
73 4r ST " | o T
(2) = (3) 81 W =

(1) AT 4
 Jes of Messes m and 2m are moving with same linear momenta. The
Two paﬂlzﬁ kiﬂeﬁc qergies is :

atioof th g 3 w3 @ & TR NG gl o
A ) 1:4 @ 41 @ 2:1

(2)
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10.

11.

16U/115/2(i)

A rigid body with angular momentum ] is rotating with moment of inertia /. Its
kinetic energy E is :

& 3¢ fve e Wawr | ok eyt 1 @ W gl ax <@ & 3w 1R S
g
(1) E=2]] (2) 21/ ]2 3) J%/2 4) 21/]

10° Droplets of a liquid with surface tension 0.077 |/ m? merge to form a single
drop. The energy released is, approxima tely :

g.[}??[/mzqssaﬂwmﬁwﬂﬁ1nﬁﬁﬁﬁmw§aamﬁ%|§ﬁm?mn

(1) +95x107] (2) -95x10°] (3) -95x107] (4) +9.5x 107]
If dot product of two vectors A and B is equal to the cross pnjduct in
magnitude, their resultant X - E? has the magnitude :

afz @ el A @ B w1 s qoewa oRan § e e @ avew @ o
7% uRum wfeer E} +B &1 giRAToT BN Y

(1) A+B (2) A-B

(3) VAZ+B2+AB (4) JA2+BZ+J§AB

A car moving on a circular track of radi '
ﬁ us 10 m with a constant speed of
10m/sec has a plumb bob suspended from its roof by a light rigid rod uFf) length

1 m. The angle made by the rod with the track is (=10m/sec?):

10 m 5 & gefr o w19 m/sec B AR ¥ AT U

R F
?ﬂgaam?fﬁmﬁwé1mﬁm@aﬁsﬁaﬁvw$a’mmﬁjﬁﬁw
m/ sec’) B : (g—‘- W

(1) 0 (2) = %
0 W g &
A fireman slides down a rope having breaking strength 2

His sliding down acceleration s - 3 1l weight,

wm—ﬁmmaﬁé
Wﬁfﬁﬁﬁﬂﬂﬁﬂﬂw%:
(1) 0 2) g (3) g/3

[ ]
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16U/115/2(i)

12

13.

14.

15.

Force between a proton and another proton is :

(1) gravitational (2) weak

(3) nuclear (4) electromagnelic

<l el @ 4 99 @

(1) o (2) &fror

(3) “gadly (4) faega-gradr

Young's modulus for a perfectly plastic body 15 :

(1) 0 (2) infinite 3) 1 (4) finite
v gul SRR TS 1 W YRIRAN Ul &

(1) 0 (2) 3 3) 1 (4) WA

At crilical temperature the surface tension of o liquid s
(1) zero (2) infinity
(3) the same as that at any temperature (4) cannot be determined

TFad T W [l gd pl Yo GHld e

(1) I (2) S
(3) T8 S 3 T W (4) & fyeren o AEdT £

Which of the following is path independent quantity ?
(1) change in internal energy
(2) work done

(3) heat absorbed

(4) sumol change in internal energy and heat
BRI <1 e gy ® FRR w7

(1) TN o # uRadd

]‘P’{?}'Jﬁi

o ﬁntﬂﬁa‘#ﬁm srqelfe SO &l AT
(4) SR

albsorbed

14 its degree of freedom 118 given by :

- Hkﬁf“ lr ;
16. A" _ 1.4 &3] i B Rl (n) €

@1
23

Uﬁ-? ) =5 (‘3) =17 () n=0¢
EU il

(4)

-

—
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17. The colour of a star is an indication of its :

(1) mass (2) size (3) temperature (4) distance
(1) S99 &1 (2) IMHR @1 (3) T (4) 0 B

18. A Carnot engine working between 300 and 600°K has work output of 5000 | per
cycle. The amount of supplied input energy to the engine is :

300 SR 600°K M9sHT & &1 wRiaR) el S grom @ B e 5000 S R
TH & | T BT S AT are STt
(1) 10000] (2) 25000 ] (3) 2500 (4) 5000 ]

19. The door of a running refrigerator inside a room is left open. Which of the
following is true ?
(1) room will be cooled slightly
(2) room will be warmed up gfadually
(3) room will cool to the temperature of the refrigerator
(4) room temperature is unaffected

¥l 3R & A 1@ BB orer a1 avara wen vie e w2 e
T TG & ?

(1) & 22T 85U B SRR

(2) B& &9 W By

(3) @&T MBI B a9 qF TveT & wRp

(4) P& T 9T smwHIfaT @ I

20. When a piece of iron is heated jts radiation colour changes from dull red to
yellow to white. This can be explained by :

(1) Rayleigh-Jean's law (2) Kirchhoff's law

(3) Wein's displacement law (4) Stefan's radiation law
k%ﬁ‘l‘affm@'m*rWﬁmﬁrmmg’mﬁhwgaﬁmﬁrﬁﬁﬁv&wnﬂm‘m
URaRIT 81T 8 | ¥ W W wwa ¢

(1) Yel-si=g farm 9 (2) frves frem

(3) 99 favermuT fagy § (4) ¥ & ffdwor e 3

21.  Which of the following is true for a mode of vibration ?
(1) first harmonic is second overtone |
(2) first overtone is second harmonic
(3) first overtone and first harmonic are same
(4) harmonic and overtone are not related

(5)
P.T0.

[ ]
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16U/115/2(i)

fpe 2o & wIs @ forg @7ar wEl € ?
(1) uﬂmmﬁ?ﬁnma

(2) wem 3rfeRgve fgdr 9 ©

(3) 7 yfERe Td oW WA Ud &
(4) A vd SRR E T e ¢

22. The SI unit of surface inlegral of electric field is:

(1) Vm 2) V

(3) NmC™ (4) Cm™

e & A Q@ yo e Bogw-ag (S1) §IIR E
(1) dice-AeR (2) aree

(3) YCHi-HreR/ @i (4) @M/

23. The number of lines of force radiating outwards from one Coulomb charge 1s .

(1) 910" (2) 1.13-10" (3) 8.85x107"2 (4) infinite
lcan%rmﬁmaﬁaﬁmﬁﬂﬂﬁaﬁﬁwmﬁaﬁﬂw%:
(1) 9-10Y (2) 1.13x10" (3) 8.85x107 "7 (4) 3=

24, Two conducting spheres with radii 1 and 2 cm have been charged to I'lH L_llnd
510" Coulomb ruapectivel}?. The spheres are connected by conducting wire.
The final charge on the bigger sphere 1s :
| ¢k 2 3R Prom o @ garerd el BB 1073 iR 5x107° C ‘iagaﬁf{) ﬂ_ﬁ
IO ﬁﬁmwﬁlfﬁm‘itﬁﬁwgﬁmaﬂﬁﬁ’@ﬂm%l@m“ e
Ik | i

5x%107 3¢ (4) 3x107°C
(1) 2x107°C (2) 5x107°C 3) 4x10

' ‘tric field inside
A sphere 18 uniformly charged throughout 1ts volume. The electric field insice
& 5 "} L ) ' ‘
® it iq}prnportional to (where x < R, Rbeing sphere radius) :

?ﬁwwﬁwa@aaa'wﬁﬂ%:
(2) X (3)_} @ %

(6)
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26.

27.

28.

29,

30.

16U/115/2(i)

A charge g moves on circumference of a circle having a charge Q at its centre. [t
circle has radius 7, the work done on g in one cycle is :

U A g U 9 & uRR ), Ras & ) U amaer Q 8, garan 21 A g @
Promr r2 @1 g Ud gaax g 3 8 R b s @

1) cero (@) @) 2 @ ! @ -2

dne,r dne, r dne, r

Each of resistances shown in the circuit is of R Q. The resultant resistance
between points A and B is

a8l wefda aRuer # Wi ufokw R2 1 farg A iR B &g uRumd) uftRy 2 -

(1) 4R (2) R (3) 2R (4) 5R

The electrical conductivity has the dimension :

dEd Arerhar o famr # -

(1) M7LPT3A2 () M'I2T842  (3) M-1p-27342 (4) MLT 24

If the current in an electric bulb is increased by 1%, its illumination (assuming
no loss by methods other than radiation, will increase by :

aﬁrﬁiﬁmﬁwm‘ri%mma’rﬂﬁﬁé}m fafevor @ aifafeas
TPR W FHol e T8 2) A gfy B | -

(1) 4% (2) 1% (3) 2% (4) 4%

Thermo-couple is based on the principle of :
(1) Seeback effect

(3) Thomson effect

TU-IH g W amRy @ -
(1) H% 3979

(3) AHHT U

(2) Peltier effect
(4) Joule effect

(2) dfeegwy gurg
(4) I gurg

(7)
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16U7115/2(i)

31. Two stars S) and S, located at 2 and 6 light years respectively from the earth
appear equally intense. Their luminocities are in the ratio :

IR G AR S AR S, gedl & HHE: 2 UE 6 wHTw § F T W R & qen v
T 9TE @ fowrd g at 9 Safd @1 Sgura B
(17 1:3 2) 1:9 (3) 126 4) 9:1

32. An eclectric fan and a heater both are marked 100 W, 220 V. The resistance of the
heater is :
(1) equal to that of the fan
(2) less than that of the fan
(3) more than that of the fan
(4) there is no relation between the resistance of the fan and heater
v fagn dwr vd te ey 21 TR 100 91€, 220 dree 3ifhd 81 SR @ UkRE
BT :
(1) 99 & avmear
(2) v | #H
(3) " G ot
1) = B oY s
33. Anelectron is moving in a circular orbit in a magnetif' field perym‘*nditulnr to its
orbit plane. On making its speed double the radius of the orbit is :
(1) unaffected (2) reduced to half
(3) doubled (4) reduced to one-fourth

maﬁaﬁ'ﬁwwqﬂmmaﬂﬁﬁawmwg@mmgrm‘ra;a;

) AT T B O7 e @ o )
(1) amRafda &M (2) Al ¥ ?rrmr:ﬁ
(3) TN & SIRgl (4) =g g S

' ' ifc agnetic field 2 tesla
34. 0.5 m wire with current 1 amp is placed in a uniform mag

perpmdimlar to 1ts icngth. The [orce on the witre 15 : - o
" 2) 2N (3) 3N |
= y 7 g3 W Y@l 8
gnqrﬁ‘uﬂ? g1 arer 0.5 #Hlo TR o wETE B aedq TP DT -
PQI"fﬁﬁﬂm'léﬁi%\ﬁﬂiﬂwgs N
o (2) 2 & (3) 3 JET @) 4 T

(1) 179ed 8)

[ ]
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35.

36.

37.

38.

39.

40.

16U/115/2(i)

The shunt resistance needed to enhance the range of an ammeter of resistance
G by 4 times is :

Td G gl arel TAeR & ™R @1 IR T g @ oy we (=) ulae @
HTITGEHTT €

(1) G/3 (2) 4G 3) G/4 4) G/5

On heating above its Curie temperature a ferromagnetic substance becomes :
(1) paramagnetic (2) diamagnetic  (3) demagnetised (4) ferrimagnetic
UG A8 gREag 431l & SHd RN T9AF @ FIR T $x U, 98 & ol &

(1) srg=@a (2) wfag=aa (3) srgra@E (4) SA-graara

The molecules of a diamagnetic material have dipole moment :

(1) zero (2) positive (3) negative (4) infinite
afig®E ygrel @ SRl o1 fRya amf
(1) I3 (2) &-rH s (3) oS (4) =i

At magnetic poles of earth the dip angle is :
gedt B gai W AR BT B AT F
(1) 0° (2) 90° (3) 30° (4) 45°

An uiecﬁnn with charge ¢ and mass m moving in its first orbit of H atom has
magnetic moment pgdue to orbital motion as :

H- DT A FEw #F TR BRF gu e amW T 7
qXH] r U4 m A drel ST T
DT IRl pp R o sh
eft /
2 __t’-l_ 2[’1’: i 95
2mm @) 4 3) o (4) i_}i
nm

(1)

In a series L-C-R circuit resonance frequency can be enhanced by .
(1} increasing R (2) dEc‘reasfng R '

(3) increasing L and/or C (4) decreasing [ ap /orC

@ HM L-C-RURTY ¥ Srmpe HTgfer B aerar I Wy #

(1) RP! qFTHR (2) R® way
(3) LR/ C &I agTa 4) LR/
(4) Caﬁ%?
(9)

collegedunias
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41. Which of the following is true ?
(1) microwave is longitudinal wave
(2) infrared radiations are mechanical waves
(2) radiowaves are electromagnetic waves
(4) light waves cannot be polarised
oy % a9 g ® ?
(1) HIZH! T e W &
(2) araxae fafeor aifsie @<l 8
(3) Fal ol fagg gE@E W 8
(4) s T gfad A8 B AT Al g

42. i two interfering waves have amplitudes 24 and 3a, the ratio of maximum to

minimum intensity 15 :

A oL < aei @ a2 AR 3a §, o sy 1@ gAaw A @

Gl_jmﬁ“é': i
(1) 13:5 (2) 25:1 (3) 5:1 (@) V13 : V5

43. At Brewster's angle of incidence the refracted and reflected rays make angle 0

with each other, where 0 is:
(1) 0°= (2) 90°=0

(3) Brewster's angle =6 (4) 90° - Brewster's angle = 0

Wmurwamﬁﬂeﬁmwﬁa@mﬁﬁW@?fgﬂiﬁGWﬁﬁ%.
G

(1) 0°=0

() AR 7=

a2 1 wavelengths (Erequencies) where 1 is equal to

(2) 90°=0
(4) 90° — JUERR BV =0

N s
oy " (2) infimite

. ? : 4 3

W finite but larss number (4) |
i ﬂtlﬁq’ﬁa(ﬁﬂqﬁﬁrﬁ)g,'ﬁfﬁnﬁﬁﬁﬁ:
Qjﬁi gﬁﬁﬁi (2) &d

(1) 7 o Sagell @) 3

3 PR o)

[ ]
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45.

46.

47.

48.

49,

0.

16U/115/2(1)

In which of the following the final image is erect ?

(1) Astronomical telescope (2) Compound microscope
{3) Newton's reflecting telescope (4) Galilean telescope
= A e o~ fm Par &7

(1) =M ged | (2) wgad gl

(3) e &1 wiad] gReH (4) Hfeaferar &1 geaHt
The momentum of a photon is :

h h hc A

1) — 7. R L3 2=
& 5 @ = B ) =
Rydberg's constant :

(1) depends on nuclear mass

(2) does not depend on nuclear mass

(3) does not depend on electron mass
(4) does not depend on electron charge
Reait w1 BRRICE

(1) e gare R fafy sear 2

(2) TRRT gegEE w Rk 8 Fwar @
(3) 3% B gaEmE W T8 fnk @ @
(4) TAFGH & AR W 7D Pk pear &

Average (1) and half life (T) times of a radio active element are rol; ted by :

ﬁwﬁﬁzﬂqﬁe—aaﬁaﬁm-fﬁamaﬁw@ﬂ@ (T) & T & -

(1) v=144T (2) T=144+ ) ==06BIT (4) 1= 57
[n a pn junction the width of the depleti ion is of
_ ; pietion region is of the ;
f&xM pn Seem ¥ v vom ) AISTE FT PfEAT By g?rdernf'
(1) 1 mm (2) 1pm (3) 1nm 4 1
A vacuum tube diode has : e
(1) zero resistance .
_ (2) infinite req;
(3) ohmic resistani:e (4) n{;m,{}hnisl:tjaﬁce
e fraia 1ot erre 7 “SiStap
(1) wicRw o grar 8 (2) SRR oy
(3) wfoRM SIEy g @ (4) Wﬁﬁﬂﬁ-% &
T 8
(11)
Pro

[ ]
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16U/115/2(i)

SECTION - Ii
e — I
(CHEMISTRY)
(varad fasr)

91. Tetrachloromethane is:
(1) Non-volatile organic compound ~ (2) Highly reactive

(3) Nota green house gas (4) Volatile organic compound
?Wﬁﬂﬁ :

(1) s eEfe Ahs 21 (2) S=a fiparela 21

3) Na-zg g 78 2| (4) arsrdfiar Freid Hfrs B

52. SN reaction involves :
(1) One step (2) Two step

(3) Concerted Step (4) No intermediate

SN! yifafgra 3 ofia &
(1) werm &R 2) %Tﬁﬂqm
(3) ST W (4) weggdl el

53. Alcohols combine with a
catalyst to form::

(1) Ethyl acetate
(3) Ketols

(2) Acetals
(4) Carboxylic acid

SR B w9

el € ¢ = (2) TRyee
(1) ofore R () S I
(3)

e Tiﬂ;‘mTU : 7 7} Rearran ement
54. 1l drobo ikov orientation (2) N “ngitiun
(1) Mark‘f; men-,lkm_- orientation (4) Antie
e :a - 5 1
() AN e e fad U
e
(*I:Cf\“\ﬁ L AT (2) gAfauT
M i (4) W AT
ﬂ o
W ,miff"f%
&) Pt (12)

idation to C = € has the following feature:

-

—

cetylene in the presence of mercury compounds as

Wﬁ?ﬁ%aﬁquﬁmﬁqﬁﬁﬁﬂ,qﬁ-ﬁ?ﬂ?ﬁﬂmm{w
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56.

o7.

58.

59.

16U/115/2(i)

Phenol reacts with excess bromine water to give :

(1) Bromobenzene (2) o-plus p-bromophenol
(3) 2,4, 6-Tribromophenol (4) m-bromophenol
DI, sfdRed 9= Sa & |1 afdfsar owar 2, o) <ar @

(1) FMe~= (2) o-TAR p-AHIHATA

(3) 2,4, 6 grEAHITA (4) m-grfsaTa

Grain alcohol is another name for :

(1) Methyl alcohol (2) Tsopropyl alcohol

(3) n-propyl alcohol (4) Ethyl alcohol

U Qehlelel 3T 19 &

(1) #a vehieia #1 (2) STFANRS Uepleter &1
(3) n-0fS TemIEla @ (4) TRre Tedretd &1
Ethers are :

(1) Bronsted bases (2) Lewis bases

(3) Lewis acids (4) Bronsted acids
O

(1) e AR (2) g9 &R

(3) =¥ 3p< (4) aRs ap

The compound with the lowest boiling point is ;

=™ F@eAis arer e @
(1) CH,OH (2) Et,0 (3) CeHq (4) CH3CH,CH;

Acetoacetic ester synthesis is a valuable method for preparing :
(1) Acetoacetic esters (2) Ketones

(3) Carboxylic acids (4) Ethyl acetate

[ ]
gcollegedunlaa
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16U/115/2(i)

60.

61.

62.

63.

64.

65. The Schiemann reacti

Cannizzaro reaction is not gix'un bv:

(1) Acetaldehyde (2) Benzaldehyde
(3) Formaldehyde (4) Trimethylacetaldehyde
wT bRy offafa 98 ¢ar g ?
(1) TheieseTge (2) Toifeeerss
(3) wifegerEs (4) ergAfder yRiefecergs
Which of the following has most acidic hyvdrogen ?
(1) 3-Hexanone (2) 2, 5-Hexanedione
(3) 2, 4-Hexanedione (4) 2, 3-Hexanedione
~ Ni A a =0
FrifeRad § 9 41 R opella BRI € )
(1) 3-EFaAH (2) 2, 5-BRITSIZ
(3) 2, 4-ERTTSIEAT (1) 2, 3-SR

Alkyl cyanides on reduction vields the following :

(1) Secondary amines (2) Tertiary amh‘le&;
(3) Carboxylic acids (4) Primary amines
vRas TEEed ® HYTU TR S BT §

(1) fedas e (2) gD T

(3) FEiTRtEs o (4) werfe A=A
Primary amines when treated with nitrous acid give :

(1) Ammonia (2) Arlcnhols

(3) Nitroalkanes (4) ije nf the above
mmmmmqwﬁfﬂ?mafﬁﬁﬂﬁﬁﬁ'%:

(1) s (2) TUEhIBTA |
(3) ATECITcH (4) 3 @ D% T8

Benzenediazonium chloride reacts with warm 'water to give :
(1) Benzene (2) Diazobenzene  (3) Biphenyl -
I SIS TARTEE 5 we & | e v W adl e

(1) awaird

on deals with the synthesis nf - .
' othane (2) Arvl cvanides  (3) Arylhtluom es
. Dl;%m 'ﬁﬁ i g fege aeoa < R g
A |
RS ERIES
o] (=)
(1) &M s

(4) Phenol

(2) g (3) qigHiTd (4) HHA

-

—

(4) Aryl chlorides

(3) e FEREE (4) oRa FARTZEE

collegedunia:s
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66.

67.

68.

70.

75

16U/115/2(i)

Orlon is prepared by the polymerization of :

(1) Allyl alcohol (2) Vinyl cyanide

(3) Allyl chloride (4) Vinyl chloride

IR =1 & dielRgoeE gr1 QR fvar wmar @

(1) Tfored Yeprerd 2) fdser wgIES

(3) Uferel FeiRIZS (4) faTger weivigs

Which is a monosaccharide ?

(1) Maltose (2) Sucrose (3) Cellulose (4) Galactose
AARTOZSY #

(1) Areer 2) gpr et (3) Wefelre 4) YT

The value of AH for cooling 2 mole of an ideal monoatomic gas from 225°C to
125°C at constant pressure will be (given Cp = 5R/2) :

Rer ar R 3yt v weaols & @) Wi @Y 225°C ¥ 125°C a6 avel a3
& {9 AH &1 519 9 8 ? (R & Cp = 5R/2) -
(1) 250R (2) 500 R (3) 250 R (4) -500R

For the reaction of 50,(g)+ %0, (2) & 503(8). K, =K(RT)*", where the symbols
have usual meaning. Then the value of A (assuming ideality) is :

S0,(8) +%0,(8) ¢ SO5(8), K, = K(RT)A" sififdrar @ forg, el Wil @ |y o
€1 99 An (3reel /19) 37 31 =
(1) -1 (2 -1/72 . (3) 1/2 4) 1

The compounds of A and B are mixed in equimolar proportion to form the

Products, A + B=C + D. At equilibrium, one thi
ST ' , one third of A and B are
The equilibrium constant for the reaction is : FESSISE

Eaﬁ‘ﬁ[a?H§Q|ﬂﬁﬂqﬁ'BﬂTﬁmfﬁaﬁA+B-C+ 9§ §91g
| = D g | TR
W-AWBmwﬁgxéwamélarﬁ?ma%mmm%:l

(1) 0.5 (2) 4.0 (3) 2.5 (4) 0.25
The pH of 10~ M KOH soltition wil] be -
107 M KOH faerm &1 pH @7 gy
(1) 4 i

er = (3) 10.0 (4) 105

(15)
P10,
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72. A buffer solution is prepared by mixing equal concentration of a weak base

with its salt of strong acid. K; for this base is 10”. pH of this buffer solution will
be:

T iG] @ gde &R Ud SWd VAW I B o@U & AT gRT Ud awR e
TN AT T &R BT K, 1078 | 39 6% faeas @1 pH BT

(1) 9 (2) 4 3) 5 (4) 13

73. Two liquids X and Y form an ideal solution. The mixture has a vapor pressure
of 400 mm at 300 K when mixed in the molar ratio of 1: 1 and a vapor pressure
of 350 mm when mixed in the molar ratio of 1: 2 at the same temperature. The
vapor pressures of the two pure liquids X and Y respectively are :

A 5T X T Y U aree ferr g £11: 1@ AR s 7 300 K W far =
Rysror T AT =T 400 mm T 1 : 2 B AeR ru ¥ WA e W e W
a9 279 350 mm & | Q1 RR[E $aX Td Y BT A < e 0

(1) 250 mm, 550 mm (2) 550 mm, 250 mm

(3) 350 mm, 700 mm (4) 350 mm, 450 mm

74. The vapor pressure of pure liquid A is 0.80 atm. When a non—volaitile Bis add.ed
to A its vapor pressure drops to 0.60 atm. The mole fraction of B in the sofution

15 1
wﬁgaaaAwwmo.soam%lmwm@ﬁaﬁaﬁaﬁﬁwm%
ﬁmmmﬂﬁﬂo.6ﬂatmﬁmﬁlﬁwf{BWWW%:

(1) 0.125 (2) 0.25 (3) 0.5 (4) 0.75

75. The degree of dissociation (a) of a weak electrolyte, A:By is related to Van't Hoff
factor (i) by the expression : ) ] | o
@ gia soEgIeEe AB,, @ A @l Rl (), dve & Heaex () T e aoTs
(1) a=(i-1/(x+y-1) @) a=(i-D/Ey+D
(3) a=(x+y-1)/(-1) (4) a=@x+y+1)/(i- )

76. Given,1/a= 0.5 cm-!, R = 50 ohm, N = 1.0. The equivalence conductance of the

electrolytic cell is: |
e i 1/a=05m?, R= 50 ohm, N = 10| SAEETEE A BT A e

T - ¢m? g equiv-!
2 jy-] (2) 20 ohm §ed
(1) 10 ohm-"! Cmagz:j;-l @) 40 ohm-! cm? g equiv-’
hm! (N 5
(3) 30 0 (16)
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78.

79.

80.

81.
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9.65 C of electric current is passed through fused anhydrous MgCl.. The
magnesium thus obtained is completely converted into Grignard reagent. The
number of moles of Grignard reagent obtained is :

9.65 C @ fagq am1 wifera fsfer MgCl, ¥ & Towell ]| 39 YR W@ A=Hfdrm
it Brrné sfreis § wRaffa & w81 A afteds @t Ao @)
T g

(1) 5x10* (2) 1x10™* (3) 5x 107 4) 1x10°

A current of 12 A is passed through an electrolytic cell containing aqueous
Ni50s solution. Both Ni and H: gas are formed at the cathode. The current
efficiency is 60%. What is the mass of nickel deposited on the cathode per hour ?
12 A P! IRT Felld NiSO4 e qaet 1o serasienzse o TORCH & | DU W
W Ni T Hp 9 a7 &) awr <emr 60% B dels w uRy wve o e
ffdver &1 e @ g 2

(1) 7.883 ¢ (2) 3941g (3) 591g (4) 2645
The equation for Freundlich adsorption isotherm is :
1 1
(1) .51. =kp" (2) x=mkp" (3) ==k @) All of these
whisford arerenyor wmam 3 ferg wiavor 2 -
1 1
X _1.n n -1 ;
(1) ==k (2) x=mkp (3) —=kp 4) 37 ¥ wh

n

The velocity of oxidation of oxalic acid by acidified KMnOj increases as the
reaction progress. It is an example of : |

(1) Promoters . sidiotier
(3) Autocatalysis g‘;i Inhi?:)ﬂ C:SPDISOHS
arrsﬁamnmaﬁwﬁqﬁﬁamﬁﬁwaamem &
m?lﬂ?w% ”[[aiﬂi

(1) =% F7 (2) IIAF fag

(3) WISRT FHT (4) IREH F

Which of the fnl'l_uwing IS not a property of colloidal solution ?

(1) Heterogeneity (2) Particle size > 100 nm
(3) T}jndall effegt (4) Brownian Movement
e 3 B Bremid) fAagm o) fvrga TFE T 7 !
(1) ottt 2) T AL > 100 1
(3) fevea yyra (4) T=fT 7Ry

17)
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82. The density of the gold is 19 g/cm’. If 1.9 x 10 g of gold is dispersed in 1 L of
water to give a sol having spherical gold nanoparticles of radius 10 nm, then

the number of gold particles per mm® of the sol, will be :

w}marra:fc—q'fébg/cmf*%mﬁl.%lU‘*‘gmlmaaﬁwm?,%ﬂm
& TMeTPR B © 347 B9 B @ 10 nm 2, 79 e § v mm® § w9 @ Fo

@ F&T 8l

(1) 1.9x 10" 2) 6.3 x 10" (3) 6.3x 10" (4) 2.38x 10°

83. The total number of o and B-particles emitted in the nuclear reaction

2 .
e U - —>32P£12M is :

T SRR o, U2 — g, P62 W STARAT o e PO B FA e Bt

(1) 2 (2) 4 (3) 6 (4) 8
84. Cadmium rods are used for which purpose ?

(1) Emit electrons (2) Absorb neutrons

(3) Emit neutrons (4) Absorb electrons

Acfi o raftm wim ad 8 7

(1) TorEe™ @ Soauid | (2) =gt & 3o |

(3)%%3@‘@‘% (4) woaE B LN H

85. In the modern periodic table, the period indicates the value of :

(1) atomic mass
(3) atomic number

arad TR 3 fRae (period) =1 1 A <wIfar &
(1) GRATT] A (2) qEA T wEm

(3) TR HHAID (4) Tformere daicH [E

86. The correct order of non-metallic character 15 :
efead o7 1 @ B E
(1) B::C::»Si::N::F
@)F}N}C>B>S

() Si>C>B>N>F
4) F>N>C>6i>B

; : Mg i
cies isoelectronic with Mg2* is:

g7. Aspe
. seageaeife wei ?
ey S
y F (2) Rb' (3) Na (4) Ar
(1
(18)

(2) principal quantum number
(4) azimuthal quantum number

gcollegeduniaa
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90.

91.

92,

94,

95.
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Which one of the following molecules has V-shape ?
=1 sl & feaa V-anafa g ?
(1) CH, (2) NH, 3) H,0 (4) BF;

The bond order of N,* molecule is :
N2+ 37'{,[ 1‘-{ G2l 'GE‘?IT % .
(1) 3 (Z) 1.5 (3) 2.5 (4) 2

Ionization of hydrochloric acid in water is given below :

BIESIING 3 $1 U § aifairawor fer 2
HCl(ag) + HyO(l) == H30"(ag) + CI"(nq)

The conjugate acid and base are :

| 37 U9 &R § ¢
(1) H30"(ag) and CI™ (aq) (2) Ci™(aq) + H30%(aq)
(3) H;0"(aq) and H30% (aq) (4) CI™(ag) + CI” (aq)
Coordination number and oxidation state of metal in Co(NH 3)4Cl3 15!
Co(NH3)4Cly % ©Tq & Bianf&er e qen sitafravor arawen 2
(1) 6,3 2) 7,3 (3) 6,2 4) 7,2
Which is tetrahedral and paramagnetic ?
1 A 319 aqesaratg aur Ry @ 2

P _ s
(1) Ni(CN); (2) NiCN); (3) NIDMG),  (4) niciZ

Number of ions present in aqueous solution of Co(en), Cl3 are :
Colen),Cly & Tl Ol ¥ SuRer aifasli ) e & -
() 4 (2) 2 (3) 3 4) 1
Hydration energy decreases in the followin

_ g order :
BIESYH gl (Sotl) Bt 5 o medhy 3 -
(1) Be™ >Mg™ >Ca* 562 w2 () Mgt s Ca* 5 5,24

2+
2+ 2+ 2+ 72 il BEZ*
(3) Sr°" >Ba®* > Mg®* > iy, p,2+ (4) Ca’* 5812 5 g2+

> B{J:' t S ‘M82+ .
Bleaching powder is :
(1) CaCly +Ca(OCl); (2) Ca(OH), 3) CaOD

(4)
(19) Ca(OH 1.Ca0

FT.O.
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96. Anhydrous copper sulphate is used to show presence of :

UETSSH BIUN Webe fhad! SuRafy & guiH & forg grar g ?

(1) EtOH (2) H,O (3) Hexane (4) Dioxane
97. Peroxy disulphuric acid is :

1 W P IR SIgUcIyRa 3 § 7 |

(1) H,5,0g (2) H,S0; (3) HyS50; (4) H3504

98. Which alkali metal does not form nitrite on heating nitrate ?
[ ey Uid &1 Igge TRA PR W Aggige el g 8 7
(1) Na (2) Li (3) Rb (4) K

99. Inorganic benzene is :
=1 & 9 serdfae 9= 2 7
(1) B3N3Hg (2) Cy¢Hg (3y H3BO;, (4) ByHg.2NH3

100. Anelement with outer electronic configuration 5s*5p* is :
918l gelagie WxeH 5525pt aren awa
(1) Te (2) Po (3) Bi (4) Ti
SECTION - li

wug - |l
(BIOLOGY)

GIERLEL)

101. Lomasome represents:

' ial ivalents
(1) Membrane structure (2) Mitochondrial equi

(4) Irregular

AR gt u
) UG T (2) WIFSHIOGAT B AT
(q) ST (4) afvafaa
(

. fungl have specialized hyphae called :

2) Soredia (3) Ascogonia (4) Conidia

(1) haustord o " e o 2 e By
W () |Rfsar (3) TR (4) @ifAfsa

(20)
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103. The development of a sporophyte from the moss gametophyte without sexual
fusion is called :

(1) Apomixis (2) Apogamy (3) Apospory (4) Amphimixis
fasr <iffep o @ v wWRIBTEe @1 e MeIwEe A ReRE BT TR &
(1) vofafeas (2) TurrE (3) TURE (4) TRpIfAfeTd

104.  Fruits are not formed in gymnosperms because :
(1) They are seedless.
(2) They are not pollinated.
(3) The process of fertilization does not occur.
(4) They have no ovary.

AN UIey ¥ %ol a7 q7q & ?
(1) I8 <iorfed & &

(2) 98 wifira =& e §

(3) == & fbar =8 & 2

(4) USRI 3rquRerd erar 2 |

105.  'Red tides' are produced by massive blooms of :

(1) diatoms (2) dinoflagellates (3) red algae (4) brown algae
T SAR-ATeET fh At sl gRT Soar € ?
(1) STCen (2) STEAITRISTded  (3) et YT (4) *R1 dare
106. The structure that forms most of the flesh of an apple is the : |
(1) Pistil (2) Receptacle (3) Petal (4) Stamen
A D HGA 9T A e B areht v @
1) fRea 2) WHe (3) Tolgw (4) gHWR
107. (St;pules are modified into tendrils in
1) Gloriosa (2) Smilax (3) Lathyrus aphaca (4) Pi :
t
P 1 i yrus aphaca (4) Pisum sativum

(1) 7enRsirar (2) wFAFT (3) oomFYT TaET  (4) WEEH Werman
108.  Phyllode is a modification of :

(1) Root '
n{zﬁf ST)G S;em (3) Petiole (4) Flower
(1) e (2) T (3) ufeaira (4) gu
(21)
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109.

110.

i 18

113.

114.

Vessels are not found in :

(1) Sal wood (2) Chir wood

(3) Teak wood (4) Shisham wood

(1) 1T B SThel 3 2) for @ B A

(3) & B FHS A @) Mo @ dADS H
Mesophyll consists of : .

(1) Waxes and Culin (2) Photosynthetic cells

(3) Lignified cell walls (1) Cork but not bark

qUHETS H 9 I B |

(1) A 3R YT (2) BT HIRTEH

(3) faftaw gaa MR (4) @13 SuRed oifd BTel IrguRerd
A corolla of five petals with vexillary aestivation is said to be:

(1) ligulate (2) bilabiate

(3) personate (4) papilionaceous
tﬁﬂﬂ?ﬁa%aagvrﬁuﬁaﬁm&ﬁmaﬁqﬁzﬁmﬁam%:

(1) ferere (2) drgeifave

(3) TREMT (4) ofafera=Ras

An example of the plant bearing cyathium inflorescence is : |

(1) Poinsettia (2) Dianthus (3) Begonia (4) Marigold
FERTT TUHH &1 (@ ISR €

(1) grgaafear (2) SIvud (3) faof=ar (4) #Hres
An example of fibrous protein is : |
(1) Albumin (2) Globulin (3) Collagen (4) Prolamine
WIER WEH @1 Ud SaeXY ©

(1) Tegfd (2) Tegel (3) DTt (4) wrenfas
Fehling's reagent is used for testing :

(1) Reducing sugars (2) Non-reducing sugars

(3) Stereoisomerism (4) Asymmetry of carbon atoms

efelT g e e & fory SurEfo &
(2) AT AT
\ T RO @ I

(22)
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118.

119.

120.
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During which phase of meiosis do homologous chromosome separate ?
(1) Prophasell ~ (2) Telophasel  (3) Metaphasel  (4) Anaphase I

SR fare & fbwr sraven # wweE ToRgE aterT B W £ 2
(1) Wow 11 (2) TAH I (3) #emw I (4) TAHW |

Rate of transpiration is measured by :

(1) Ganong's potometer (2) Porometer

(3) Auxanometer (4) Respirometer

ATCHST B IR BT HYT, FT &

(1) 90T grerfier ¥ (2) 9RFex 9

(3) siferoramer ¥ (4) rgTHRR @

An antitranspirant is :

(1) Cobalt chloride (2) Potassium

(3) Phenyl mercuric acetate (4) Mercury

=1 3 9 v aftersiicasit &

(1) DrETee FoARES (2) Tref¥ram

(3) wfa wagRe R (4) TRHA

Yellowish edges appear in leaves deficient in :

(1) Ca** 2) Mg?* 3) K* (4) Sulphur
oferal & Qe e @ a0 QB

(1) ca?* (2) Mg?* 3) K* (4) |
Essential element for photolysis of water is :

(1) Carbon (2) Oxygen (3) Nitrogen (4) Chlorine
oA @ faued & g smavas aw @

(1) @1dw (2) 3ifRiraT (3) AmEERH (4) TR

Carotenes protect plants from :

(1) Photo-oxidation (2) Desiccation
(3) Photorespiration

(;)manmaﬂ;rﬁ 2) @ @
(3) HHTINA-vawH @) e
(23)

(4) Photosynthesis

P.T.O.
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p 4 2

122,

123.

124.

123.

126.

197. Water vascular sys

Before combining with oxaloacetate pyruvate is changed into :

(1) Acetyl co-enzyme (2) Citric acid

{%) Malic acid (4) Succinic acid

JfeieieRiee | fsor § qd JgHde 8 W 8

(1) vhafee @-vemgq () fRifee ara ¥

(3) dferd ot H (4) afmafs apa |

Hormone that breaks dormancy of seeds and vegetative organs 1S :

(1) ABA (2) Gibberelin (3) IAA (4) Zeatin
ﬁ?ﬁaa&ﬁﬂnﬁaﬁmaﬁﬁ\@ﬁw%%r

(1) ABA (2) RrerferE 3) 1AA (4) fufes
Total number of nuclei involved in double fertilization 1s :

(1) Two (2) Three (3) Five (4) Six
e-FvET § 9RT oF a1 BRe] @) Wl € ¢

(1) < (2) @ (3) urd (4) &

One of the Chargaff's rules states that:
Byt # < TP IR B P D G €
(1) A+T=G+C (0 A+G=T+C (@ A=GT=C (4 A=C T=0

Viral genes are made up of :

(1) DNA only (2) RNA only

(3) Fither DNA or RNA (4) Either proteins or nucleic acids
fagey & 9 a1 814 ©

(1) ®ad SloTHoTo B (2) DIA HRoTHoTo B

(3) T A QoTHoTo W IROToRo & (4) A A W AT D I @

Peripatus is a connecting link between :
(1) Annelida and Arthropoda (2) Annelida and Mollusca

(3) Mollusca and Arthropoda (4) Coelenterata and Platyhelminthes

ey fras 9 @ IE GINd T B 7 i
(1) ufferer aiR anefHreT (2) qﬁﬁ%ﬁ HYADT
(3) et AR ST (@) Rreiger ok Cafee

tem 1S characteristic of :
(2) Porifera

(4) Echinodermata

(24)

(1) Pisces
(3) Amphibia
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Wl G aF LT § ¢
(1) 7o (argei) (2) RGBT
(3) SHTER (TEpifaa) (4) gHIFISTHET

The blood cell which shows phagocytosis is :

(1) Monocyte (2) Platelet (3) Eosinophil (4) Basophil
DY Y& BIRGT 7ervr i &1 yehiq wwd) &

(1) A-rERe (2) wiedey (3) R (4) <R

Which of the following is the simplest amono-acid ?

(1) Glycine (2) Tyrosine (3) Alanine (4) As '
paragine

=1 3 9 - grafe oA ap @ 7

(1) wemsR (2) grfy (3) QorTET (4) YRR

How many«gypes of gametes will be produced in F; generation of a
monohybrid cross of Mendel ?

?j$wmmwﬁ@?ﬂuﬁﬁﬁﬁa%)&%ﬁﬁﬁ#méwﬁﬁ

(1) 3 (2) 4 - (3) 8 (4) 16
‘Drosophila of the plant kingdom" is -
(1) Pisum (2) Rhizopus (3) Neur
‘eurospora 4) Penicilli

H——— B (4) Penicillium
(1) urgeH (2) rEsiow (3) <RI @) SFRiFR
Which of the following is commonly known as " ' " |
8 I;ecnn . (2) P]as{urml?llpmg il

I"E]ﬂSpOSDn (4) Transgenic
kil B e el e SN @ AR ng*a;es
(1) Y@ (2) @hwg |
(3) s (4) 5T e

The terminator (nonsense) codons are :
SRR BIEHE I1 (Hr =) € -
(1) UAA, UAG, UGA (2) AUG, WG UG

!

(3) UAC, AUG, UAG (4) DCC, A, r, |
(25)

PTH.
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134. What is the common point of similarity between DNA and RNA ?
(1) Both are double stranded.

(2) Both are polymers of nucleotides.
(3) Both have identical sugar molecules.

(4) Both have identical pyrimidine bases.

DNA 3R RNA @ € fo wmma g & Sarar € 7
(1) 2 & Raredy B ¥

() e & Tfemerea @ Ui €

(3) THI % & W T A E

4) =21 ¥ & |aE A oR 2|

135. Which cartilage is present in trachea; larynx, and bronchi ?

(1) Hyaline (2) Elastic (‘3) Fibrous (4) Calcified
aﬁ?{-ﬁwﬁ%éﬁa—m,éﬁw,aﬁamﬁimﬁwﬁ?ﬁ%?
(1) &3fed (2) gD (3) WIEHY (4) dfeamEs

136. Characteristic of mammalian liver is :
(1) Leucocytes and canaliculi
(2) Kupffer's cells and leucocytes
(3) Glisson's capsules and leucocyt.es
(4) Glisson's ca psules and Kupffer's cells

2) C7ToLsSiCds (3) CTplsSiCdi (4) CrTiLiSiCds

(1) C?T1:L555Cd4 T - Thoracic, L - Lumbar, S - Sacrum, Cd - Coccyx, Codal]

«[C- cervical,

% 3
A @7 1?3 ) C7T9LsS4Cdy (3) CoTlsS1Cdr - (4) CrTi2LsS4Cdy

C 5
(DC?T“U’S ,\CWW,T-W,LaW,S-w,Cd-W,w]

olled by
e agtioﬂ"?;of (2) automatic nervous system
138. Fi} gpinal CO,;\ qelus system (4) sympathetic nervous system
- ~NE
@ perv” (26)
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yforadt wfafdsar Fafa 81 2

(1) TEFS FTE FRI (2) YA e a3 &
(3) WA dfEe oF gr (4) e dfesT a3 g
139. In man, removal of parathyroid gland lead to:
(1) Tetany (2) Acromegaly
(3) Polyuria (4) Dibetes insipidus
Aa F RengREe 3 1 Fea 9w e @
(1) fed=n (2) THHATTEN
(3) diefrgfRar (4) sERfea safrsd
140. Natural parthenogenesis occurs in :
(1) Frog to form females (2) Honey bee to produce drones
(3) Cockroach (4) Vegetarian eggs
THAS T 2 & -
(1) *{rr\ﬁ e TE F FY Y (2) WAfAET] gRT B & I i
(3) foerast 4 (4) WHER 37

141.  Which of the following is correct grouping ?

(1) Ectoderm — Retina, Epidermis, Nervous system
(2) Mesoderm — Ovary, Urinary bladder, Kidney
(3) Mesoderm — Lungs, Connective tissue, Testis
(4) Endoderm - Thyroid, Pineal gland, Thymus
1 4 9 - 9wt e

(1) TaereH — e+ Ui, dfyer a3

(2) A"red - S, T e gar

(3) s — w3, st e, g

(4) TUSeH — ARG, Rfvge 4y AT

142. The plants which live on saline soil are known as -
(1) Lithophytes  (2) Halophytes  (3) Mesophytes

AU FQ1 H W Aol U Ry oy HlHﬁd
" ‘ i mrg\wl 8 5 e Yar Ophﬂ{:h
| : (4) e
143. 11thJuly is celebrated as: ’5?}55733;;

(1) World AIDS Day

(2) World g
@) World Popslation Day h

. o
. (4) World S, e Ifoa v
(27) 90/1,,%

&) Dy,

R T O
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11 S #9110 ST &

(1) fIea vew fRaw & wy ¥ (2) fave wufaror fRad & wu ¥
(3) fava wRiear Rew & w9 4 (4) favg fasm &R delfed Raw & wv ¥
144.  The type of immunoglobulin present in the colostrum secreted by mammary
gland is :
ﬁﬂwfd(ﬁﬂﬂuﬁ)ﬁaﬁaaﬁaﬁmﬁﬁmwﬁmﬁmﬁqﬁﬂwﬁ%mﬁ
B 7
(1) IgA @) 1gG (3) IgD (4) 1gE
145. Who is called "Father of Zoology"? "
(1) Aristotle (2) Darwin . (3) Hippocrates  (4) Theophrastus
“Ffas &1 foame” 5 FE W e ?
(1) 3% (2) sifd (3) fewimed (4) frarmh¥eH
146. Conlractile vacuole is not present n:
(1) Paramecium (2) Euglena (3) Amoeba (4) Hydra
waeTeier R SuRerd 78T el 8 ? |
) : i 3) anfian ¥ OGS
(1) tofafEs § (2) gl | (3)
Botryoidal tissue is found in : | -
Bt (1) leudmarla (2) Egrthwnrm (3) Rabbit (4) Ascaris
ﬁﬁ#ﬁmﬂ (2) TN A (3) @ A (4) TR A
- hich stage of Silkworm ? |
148. C;ﬂkgobtamed from(u;' o 8 3) Adult (4) Larva
e £ fr orawen § few (R Yem) g A S & 2 PN
wﬁiﬁ ) o 9 ORLUANE
(1)
» following is a true fish 7 ‘ _—
1“9. Wh‘;':h DP;L Lf th ( ) D{}g fich (3) ]Elly fish (4) Cuttle fish
) S o & ? _—
o i3 I T g AR @
(1) e \fem are present in a compound microscope ?
any \ens 9) e (3) Three (4) Four
"L '
\\0 w! Emaaaqﬁam@ﬁ%?
150 "\ O m{{\ ?\ﬁ ) A @) TR
® Qfﬁ (28)
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gt & foro frder

($%7 GRAPT b T MRV TR T 3NoUHeaiRo SR G YR R A Ael/Blof aerarge T A RR)

1.%%%%30ﬁéwﬁmﬁ%mﬁﬁwﬁgﬁﬁhﬁﬁaﬁ?ﬁé
T B TR R | Rad g U TN R 50 qEA aob S RREE 3 3w
T S B ) qRaT o @ o

2. W waT A Rrprer ¥R gdevd @ sfiRew, forar @ W@ B f e e
R H T Ty |

3. SRUA I W fwr w7 g T At A e 7 & fAva #v/ guwT ST T
fedr IR | $aer S-9F @7 &) geare f5ar e

4. S9N HTFEAF TAT SON-YF @7 BAIB HUH HERVIYS ¥ 97 @ FuiRa wemm
R forgd |

5. UTV-TF @ HUH g8 4¥ 97 W YT HgAIF R v oy ford aer e f2d g
B T FX T/ orEt-o7El HavIE & TEF HYL-GRABT BT HHIF TUAT W BT TR
9rEd YT R fored |

6. Sfio THo R0 43 W A T, U3-JRaaI Gl 9 W o (@l &1 @) aen
Tr-QREBT IR ST I 3R sllo THo ko UF G @) ufifiedt ¥ suReraw &
3afa T8 2|

7. Sugam wfaftedi # &1 N uRads @er Pders grr v @ R arwer 78 W@
IR AT ST YA /T SR |

8. 7R ¥ @ weH @ IR Iaferd W A M ¥ | 7dE 797 7 dwfove SR @
R syt STv-97 # wRIYT TRT @ 9FA @4 T4 g @) STN-9F P FeH §6 T
fed 1 (et & SR are-@rge 49 @ eT B &

9. Vw3 W & ford A TF A T 1 M A W@ N o g A el o

W T T g BT AP A R TE IR et AN S

m?ﬁiwmﬂﬁmaﬁ:ﬁwm?ﬁmm?fﬁﬂgﬁmf

o gee ¥ 27 e & o Wtk dfe @ @ R T e g Al

@mwwﬁiﬁﬁﬁﬁﬁﬁi |

1. <5 o @ R w e 3 TEYS F AR A T
ST &N | _ |

12.u®aﬂm‘mmaﬂo gHo 3fI¥o W-Wﬁqﬁmmﬁ,ww

3 ¥ UEe TR T & A o B S T e
13, Tden FH N A @7 vaT aRan @ W a8 e gw fBuifs
14.uﬁﬁéﬁmaﬁqﬁm 1

10.

dor iftm @l g @
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